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GENERAL MATHEMATICS
[ Special Examination ]

Full Marks : 90

Pass Marks ZT

Time : 3 hours
Candidates shall note that each question will be multilingual, viz., in
English!Assmneseprrrgm’.f/’Bodm’Hz’ndr’ medium, for their ready reference.

In case of any discrepancy or confusion in the medium/version, the English
version will be considered as the authentic version.

The figures in the margin indicate full marks for the questions.
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Choose the correct answer
uE Taars Al Bfeed :
¥% Tadfb (A e
et e e g
T IR -
Q\ If (=3)ym+1 x(ﬁ3)5 =(f3)7, then the value of m is
i (~3)M 1 x(=8)5 =(-3)7, (T m I TA TA
i (—3)"+ 1 x(=3)5 = (-8)7, @IEee m 97 qF T
g (—-3)M 1 x(=3)% = (=3)7, rsen m T WA FEE
e (- x(=8)° =(-3)7 &, @ m T AR
(@ -1 ®) 0

A
Ae) 1 (d) 2

2. The number of natural nymbers between 182 and 192 is
18% W 19 % 91 31 o spea A 2
187 @2 19 4% T IR0 sy seayra e T

182mﬂ192ﬁﬁ@mamm]ﬁ ey SRR e

(a) 36 ) 37
(c) 38 @ 39
SPL 21-GM/30B

https://www.assamboard.com



(8)

3. Given that HCr (306,657) <9 then the LCM (306, 657) is
=9, then

208 S 657 3/ 1%, 9 3. g0 e 657 5 AT, ¥
’

306 @R 657 @ 1.9 g T, 306 wqe 657 97 A8 T

S 2 2,314, (306 ,857) = 9, sreen 3w, (306, 657) ST

fen & 1% 7. 9. (306, 657) = 9, A w. w. (306, 657 TM

(a) 1241

foM' 11169 (d) 27338

4. Two ropes are of lengths 64 cm and 80 em. Both are to be cut into
pieces of equal length. The maximum length of the pieces is

7o R 7 T 64 cm WF 80 cm. AR R ¥I@ R G FIG
T sl | ST 3 CTARLS TS R o[ 3 TR sm jgam
g vy 2

7S wfera o7 TCa 64 em 92 80 em. B (R R P G (ol (A
mbfa?rlﬂﬁfﬁﬂtﬁmmﬁmiﬁaﬁcwmmwﬁﬁﬁﬁ%m
Bl

A Rl iy el FRE ‘54"‘“3?“80%%%;,

QD)
/(c)' 8 em ®) 16 ¢y %@-

(d) 32 om
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Which of the following is 8 polynomial? '
O (P TR0 7

MBI FTIH 7500 2

TR @ R ?

Fr=fafes @ @ adm-w 7w 27

(a) —~,.._._} | (b) x?4+2x+3
x2 +2x+3 '

(c) 2t (d) x+17
x -9

6. Which pair of the following pairs of lines has a unique solution? 1]
A (FEAE HANFA WFSE FAEE WIE 2
frafAlre @m Seen oo wfSr smus wrs o
TEEE "9 9 T geReE WA HEAHATE 37
fr=fataa s 3o 4 & fraw o afefm =a 27

(a) x-2y=0 (b) 2x-3y-9=0
3x +4y-20=0 4x+6y=18
)  xt2y-4=0 (d) 2x-3y=38
2x +4y—-12=0 4x —6y =9
7. The number of roots of the equation (x +2)3 = x® — 4 is 1

(x+2)° = x° — 4 FNFR oy w2 27
(x+2)% = x° - 4 TP e e weM
(x+2)° = x° — 4 TR darfy o T
@ (x+2)% = 28 - 4% vt ) v 2

(a) 4 (b) 3

y 2 d) 1
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B. The seventh
YT of the arithmetic progres®io™ P LT sy
-5, - 1,3,7 ... )
BlicE AR Sre o5 o1 ? #
-5,-1,3,7 . . .
S ey oy o3 20T
—5! '_'1.1
37, - wrrf ity Efy fam A
T 4 5 =1,3,7, .. % wraai w2 B
a) 15 B 19
(c) 23 (d) 25
9. D and E are the points on the sides AB and AC respectively of a
triangle ABC. DE || BC, AD =15 cm, DB=3cm, AE =1 cm, then
EC is 1

ABC fagsa AB wF AC A% ¥@ D W= E 761 f"(1 DE || BC,
AD=1-5cm, DB=3cm, AE=1cm, (3@ EC 2’

ABC fagtea AB «% AC e A D a2 E 4% &% DE || BC,
AD =1.5 cm, DB =3cm, AE =1 cm, ¥%5 EC 7=

ABC smafgumfi AB 3l AC FERNE iy p o) E Bed R
DE ||BC, AD=1-5cm, DB=3cm, AB =1 ey, 3o EC 311 M

fiyw ABC H gt AB S AC TFW: fg b oty g R ¥ AR
DE || BC, AD=1-5cm, DB=3¢M, 4B =1 ¢y 3y & g 8w

AN
(@ 2cm B} 25 o
© 85 cm @ 45 em
SPL 21-GM/30B
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10. The distance between the points (0,0) and (36,15) is

(0, 0) W% (36, 15) frg oA T T4 27
(0,0}@:(36,15)1’41@?1%&1‘1?1535”
(0,0) 3T (36, 15) fr) AFAR A TR S
fagat (0, 0) 3 (36,15 F @ # 51 2 ke
(@) 15 b 36 E:%:
“fe) 39 (d) 51

11. The volume of a cube is 64 em® The total surface area of the cu be
18

5] NI = 64 cmI. WO 2 e

!

o !} o

Gafs TrEa WwEa 64 em®. wala % 4Py swis
Aa gAF TATA 64 cm®. FHE4 T fary csagian A

U I F1 AEAT 64 em® ¥ TR W FA YU AEA

(a) 384 cm® (b) 384 cm*-

(¢) 96 cm3 (d) 96 cm?

12. What is the probability of getting a number less than 7 in a single
throw of a die?

a5 3l W’ TR T I3 FT (o1rara sgifaey faung

o B JIIR THH 7T-98 (W02 (B AN 1 SUR Fgaen a2
T Sryaeh A TEREN 7 e @n drAmf S i
o TR W O WER A TR A v wm wE A wfaw wh

(@) 1 ) 2
3
© 3 @0
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18,

-Jlénﬂ:\“. ‘

Nieaicli irenrs 3o T e 24 m @ae 10 m. agried (@) AR @a
(b) CFGFE faefy o |

mmﬁmg@éﬁﬁmm24maﬂﬁ 10 m. TA®RM (a) wfifz
fam s (b) Teemfy fae

UF HEIPA ¥ I ol ) onargat 24 m 3 10 m | wHEDE W
(a) 9T 3R (b) Saww 7@ Afw

If x varies inversely as y, and x = 1 when y = 32, then find the value
of y when x = 8.

A% x 9@ y A #ee fe@teee fasan I IR oy =32 T x=1 W,

@r'TH ¢ R EA y 4 @ [y #4

ofi x, y w4 7% feAres fasad 37 R y=32 35 x = 1 W, IEA
x = 8% y 9 T facfy 3TN

forg x 3n v £y zeoq drETAA My o 32 TN x - 1) il x - 8 ATEEN
y f wrn w@an?

afe v, y % wpEEEId @ ATy 32WAMR A A @y w A
wia A, 3 x - 8 A

The difference betu-rcen two numbers is 26 and one number is three
times the other. Find them.

10JReR
1 e qred e 26 T DTN TR Fofgq | e oBr faa
ha i

4 ﬂﬁ \
® g o NEH 26 w%ﬁ‘ﬂﬂ‘ﬂw‘iﬁﬁ“
i “! j
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sEfm Wt fegl
2 wEmA # IR 26
Tra e |

p o @@ T T TE R fm o Ry < ]

The product of two consecutive Positive integers is 306. Find the
16. e produc

integers.

- ey A T 306, T4 Sy o1 fRefy 241

o R T e AR o@TF 306. WG A7 76 fRefa 33 )

ﬁﬁmﬁwmm’mﬁﬂm"ﬁ 306. T IR HRAGE g
A FHNG yATHS Q! & PH 306 2| QUT=hI ! §Td Il

g/ Which term of the arithmetic progression 3,8,13,18, -~ is 78 ? 2
38,13, 18, - TR ARG DT “f7 78 7

/
3,8,13,18, - T8 A3 @ W6 78 7

3,8,18,18, - G Syl a3 foreran 787

‘180 ABCD is a trapezium in which, AB || DC and its diagonals inf,ersect
co

/ each other at the point O, §how that %g_ = =5 2
ABCD GPfSTR AB | DC wrp gy 2 om0 0 frge TR0
wmﬂeﬂmgﬁg:%g_'

Aﬁcpmimoﬂﬁllbewﬂﬂiﬁ orgesiard O RS (T WA
e A 25 = Do
SPL 21-GM/30B { Contd.
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ABCD 3Rfmamfy 45 o T O Bt

IDC ad 3y gareied
e’ Ry f A0 _ co.
Mcpﬁw%ﬁ“ﬁmnncmﬁﬁwmﬁﬁom
WW%IW%AO_CO% = *Ej

BO po p h

=

@/Gwen that15cot A = 8, find sin A and secA- (A is an acute angle.) 2

ol
i WICZ @ 15€0t A = 8, sin A wr# sec A P T ¢ (A B STHCE 1)

| (A =
/C"?\‘ﬁﬁ e @ 15c0tA =8, sinA <42 secA fada e (

SPHCII )

- |
T E R 150t A = 8, sin A 3T secA fgil (A4 31 FR TN T
T2 5 15cot A =8, sinA 3 secA&'-‘iquW1 (A@W

* B

1
- — i e A B 90 A > B,
20.) If tan(A + B) =3, tan{A — B) = J—’ <A+

2
, then find A and B. 1

qﬁtan(A+B):ﬁ, tan(A—B}z:fE,0<A+B<9U,A:>B§H,

mAWBﬁcfnaﬂl 1

o tan(A + B) = 3, tantA ~ B = 5 D<A+ B<90%, A > B =,

o A W B a3 .

ﬁs tan(A+B):‘/—3" tan{ArB):ﬁf ﬂn<A+B<90°, A}B,

st A = B R )

1
- = —= (°

'aﬁmn(AJrB):Jim“(A B) J3' U <4+B<g9p°, A>B, @

A 3k B = 7§18 AT
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21.] A tangent PQ at a point P of.a circle of radius 5 em meets a line
: through the centre O at a point @ so that OQ =12 em. Find the
length of PQ.

5em qpfrs Bl g@ O KPS T guvm e PQ @ 3w 073
e @R avE @9E Q TS F s ure 0Q =12 em =1 PR3
oy frefy =41

5cem APIYE O (FEW 40 oI P frgs sfke PQ =pfe qafba
@I 93D @md Q s «wed (= wa We 0Q =12 cm W |

PQ a3 Uy foefg 30311

5 cm T@E MR AR SEA B R P oo | 3 i PR A i
0 B e am R gEE @ f<iwmm @ TEt |9 0Q =12 em.
PQ i eirzamsE fagq

5 cm e a8 wF v % fag P m wil-t@ PQ ¥ 0 § W1 Al U
A firg @ W @ wAn i & 5 0Q = 12 em. PQ Fi warré Fma il

(7532) A box contains 5 red marbles, 8 white marbles and 4 green
marbles. One marble is taken out of the box at random. What is the

probability that the marble taken out will be (@) red and () not
green?

51 TES 551 331 TEE, 851 50 A WF 4% (ITEW IHA W0’ | IRIOA
ol 1 I B THE Tfteeeid TR T'H | NIEERDT (@) 18 (RRR R
(b) CTTEN IEIaE FEife! 2

ot I 50 e T, 8% A Anda waz 4% SIE ke wem | A

F @ (A GFb TEF AEISRA (e A | THAD (o) T 2SR
R (b) FE 7N TSR TG A2

| g W 5 TS AR, W8 TR HRA 0 TR 4 W WS S| T
qﬁamﬁmm’ﬁwmm|mmmmmgﬁm
ARMA (@) T AT (b) WA T

R AEFGAE W5 e W, w8 TR AEE S R 4 T A 7T
qrie ArEg TERARE HAEA') drd A | SR WS g e
A (@) TR AT (b) M T

v fomd 8 5 @@ F9, 8 Whe 4 ol 4 WA B fe @ ww A
Wmmam%lmwuﬁm%hﬁmmww{ammﬁm
3N (b) BT A BT
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/723§ A die is thrown twice. What ig the probability that 5 will come up

at least once? 2
/ , sgIfde e 2
m@@%mﬁﬁﬂﬁwqalmg <4 § G
b L2 v S pp———— . R LR ARk
mmmmmwﬁ|mwmwwﬁ5m
STEret ?
T TR A DA AR T 2| g e & 06 5 T U U AW
S BE
SECTION—C / Sl—1 / 5f —t / A—sEr / T—w
,Wro‘:e that 342 is irrational. 3
ol T (X 34/2 FfReTw |
S FCA @ 32 weAf |
e G & 342 31 THE e
g Ffore 5 342 T mfeE @E )
%9‘/ Find the zeros of the polynomial 62 7y —3 and verify the
| relationship between the zeros and the coefficients 3

6x2—7x—3§°maﬁ‘ﬁmﬁﬁﬁmw\g§ — -
oo oo F41 | L TQIEE
622 — Tx — 3 aeewiva Fuef Ff T e
s AfSoqmA AT |

6x2 _Tx—3 forrriraify @t BE fg m

R < o e

2_n _ 3% T A I 3R Ty :
mﬁ;ﬁﬁml " ¥ s 3
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* 28, ) Find the roots of the following equation : 3

o SRR TR e T -
TR FrREEE Jeerdr JE -
FrerfiRad adieol & @ T HIRA

1 1

x x—2

;}) For what value of n, are the nth terms of two APs 63, 65,67,

=3, x=0,2

and 3,10,17,--- equal? 3
. 5q f TR A 63, 65, 67, - WF 3,10,17, - <& TG 2 PR
ST °fF o1 A 23 ?
n @ B R T 63, 65,67, @K 3,10,17, - 9% S A LE
P o Tio T I ?
n 1w TR aT@E 63, 65,67, ¥A 3,10,17,- @ aFf St
AR o i fem A wwE s ?
n ¥ feg WA ¥ R, X ww Afed 63, 65,67, - 3R 3,10,17, -
¥ nd wg U=t EM?
(28}' D is a point on the side BC of a triangle ABC such that
/' LADC = /BAC. Show that CA® = CB-CD. 3
ABC fagsa BC e D <% R WS LADC = ZBAC. (T4sq (¥
CA%=CB-CD.
ABC figea BC I=e D @b 79 We LADC = ZBAC. (ysdl @
CA?%=CB-CD.
ABC fagte® BC Ies D @b 7 WS LADC = /BAC. (w318 (@
CA2%2=CB-CD.
ABC m@af=2gmfi BC smat=na D oqd 5=t s ZADC = /BAC.
RfARCA?=CB-CD.
w 9 ABC I vy BC W @ fag D W wn f@m
ZADC = /BAC ?) T=igu s CA2 = CB-CD %1
3PL.21-GM/80B
[ Conid. §
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Find the value of y for which the gistance between the points
ic

F(2,-3) and Q10,3 is 10 units. ) 3
P2, % QQ0, 5 g oy o g 1047 VT
fegA |
gt 10 73 2|

m Find the ratio in which the line segmentjoining the points (-3,10) .

and (6, —8) is divided by (-1, 6).

7 (=1, 6) ReOIA (-3, 10) =% (6, — 8) Repwcall (A4S fe oS =
32
(—1, 6) = (~3,10) @ (6, —8) R aarisfice | = S
F@R?
(—3,10) 3m (6, - 8 f AxE FEAA gEEE (- 1, 6) A
e TguEE g |
farmgall (~3,10) 3 (6, -8) F 3 W W@rwz F fag (~1,6) Frw
Wﬁﬁﬁmﬁmm%’?

@-1;’ Evaluate/ﬂlﬂﬁ‘fﬂﬁ/ﬂﬂﬁ‘fﬂmﬂﬁﬁy;m W s
cos 45°

sce 30°+ cosec 3(°

’3 The cost of fencing a circular field at the .,
#5,280. The field is to be ploughed at ¢,

Find the cost of ploughing the field,

te of ¥24 per metre is
rate of ¥ 0-50 per m?2.

of s fitS 24 51 TIS 9 JOPR Ry
= | o o PEoRS 0-503?‘1%%@%%5,280%617%

o5 Py 41 ) USRI CRE e o

SPL 21-GM/30B
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o fbI 24 BT A GFD TORW ACH N (WOF IV (FOUR INCH
5,2so%mwmmﬁmmcwfﬁﬁ%aeﬁm 0-50 Bl Z 2@ B
905 204 | WISTa A1 (xrefoq 2 BITER {RG fefy v | :
A Fgak Rl Suf 38 AEEE ferem 24 U2 5,280 T S
RyrE A w1 feraE 0-50 U2 Bd TaAE WEE | SR gd @
! g |

% JAER B R 24 ¥o ¥ W I R F = TR 1 = 5,280 Fo BT

& $ 0-50 To ufy T et N T W g 0 qeh B @A A FATE FAA A

= F1d Y|

33.' Find the area of a sector of a circle with radius 6 cm if the angle of
- the sector is 60°. Also, find the area of the corresponding major

sector. https://www.assamboard.com 3
6 cm IPTEYS Qb1 §3 b JSIAR Fe fefF Fa1, AW FeF=oE (19 60°
T TS @ Y2 JFAROR ife ey w4y )
6 cm IPIETE G0 o7 96 @I CFaTe (107 I¢q, W FIenita
I 60° TN | R SR Y TS0 CFAFS {37 1 |
AR e A'@Ee 6 em, @R Ry Rgw, R @R @' 600
S| e, SR dER @Aty Gg)
chﬁw.aﬁ@agﬁ&;@ﬁw@igm g#3%a g iR, s 10 go°
B Wy &), wma 9 Bewge w1 dawa o 7@ Hifsg
OR / 9431/ 5931/ war/ srerar
Find the area of a quadrant of a circle whose circumnference ig
22 cm. Also, find the area of the corresponding major sector. 3
22 cm YT <61 3T @B R T Ay ) 5
: RISIRECE ikl
IETANOR Fifer Al 341 BN
22 cm AT @ 3099 GF-5P0R R Ry
; S TH Y
qeain cwaen Fefg ) G

AR dEa AR 9 el semhy
mmwé@ﬁﬁmﬁ@?@ TR W R 22 om,

TF 0 % =gU (quadrant) = &a%er 3w
Y &, ¥ 49 fisqwz mmmm?ﬁﬁzﬁq’wmz‘?

cm B

SPL 21-GM/30B
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35 A fraction becomes l’ when 1 is subtracted from the numerator and
3

it becomes i when 8 is added to its denominator. Find the fraction.
E s ! o i SR =1 wAere
GB1 THIE TR o[ 1 Reme sfcE omw:'mg?& SHIN
8 (s FfATe ST i*—iﬁ | SEneeh! fefa 349
_ 1 _
aaft =@ #a e 1 s a9 SRl 3 EL RO LT S T C e

1 S
Bmﬂwsmﬁﬁz@'“wﬁﬁ@w‘

sy s i 2 9 S 1R TR 2 e et
it e & AR TR T ST R i g

@ﬁa%ﬁmg’ﬁﬁwz}”mm%@ﬂaﬁiaw%,m
aﬁsmﬁmwﬁlﬂﬁﬂmml

OR | 1] R T g
o sy A/ S/ wy

g F41 /7 Hifirg .
Selve / Wl E__?.=1, !‘2.1.9_
e o N x Y X .y
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gths of tangents drawn from an external point to

/s ;6\ Prove that the len 4

a circle are equal.

mﬁmmaﬁwwmmwmeWWl

o B (4 ol A R W 99 gace B ~epfeaiey ord T |

TEE @R R oA 9 St aafm A e e
T3YTEAT §9H |
ﬁaﬁﬁqﬁwﬁ%ﬁqﬂm@?ﬁﬂémﬁ%@ﬁﬁmmﬁ?ﬁ%!

m‘g@_
o >
) 1]
(=

37} Construct a triangle of sides 4 em, 5cm and 6 cm; and t}

. 2 . .
triangle similar to it whose sides are 3 of the corresponding sides of

1en a

the first triangle. (Write the steps of construction.)

4cm, 5cm 9% 6 cm AT @1 TIEE e T we OF free TR TP
R 2
RS b1 fasT Q@A 341 9 @R 499 fGsahr Sy AEEE 3 229

= | (WA A 3R )

4cm, 5cm R 6em IW @7 fIgs T WA R TRE «fdq Sy
wﬁﬁ@awwmm@%ﬁwmmﬂwaﬁa%m@,

(SR ol v 1)

4cm,5cmmﬁ6cmm@ﬁnﬁqﬁm@ﬁrmmmﬂﬁm%ﬁ:
: 2
arafaamft fE| SraEfEeefy 3 aﬂ@@ﬁ TR TErum g
(snfgam armerE) fer) f%%
2114 S
4cm, 5cm Gcmﬂmﬁaﬁ@ﬁﬁﬁmaﬁﬁqaﬁ(ﬁq
2 7 811 (e 5 0 9 )
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88. A pen-stang

. The following

SEC T—am
“ON-_E”"'"N!u_-[MI"MI

m

0
conical depms;de of wood is in the shaP®

10ng tg hold pens. The dimen$!
)(3-5 cm‘ T'he radius Of Cﬂch 0

u@ﬁg—a TS ST |
OV STFRA B 99 (o By T Al ﬂﬁmﬁ@m& 05 cn S
(B*ETR (T1Y 3°H 15 em x10 em x3- 5 cm. m e

L 1‘4°m"f“”i‘fc§emwmmﬂﬁ‘mﬁ'

e e
5% TTZ | SMS-TMA WA 15 em x 10 cm x3-5 €7 '

: fefa A o
0-5 e 3% B! 1-4 cm, STeefe ForaCe 41 T SRS

15 em x 10 ¢cm x3-9 cm. feEm FEErAEH g @@ 05 cm
LIRIES 1-4cm.éwﬁn1ﬁmm‘mﬁmvnﬁ@’lﬁ§m

@Wmﬁw%ﬁaﬁwmﬁ%%ﬁw
: Tﬁaaﬁgq@mﬂﬁﬁﬁlSmxlocmXB-Scm%tnﬁﬂi
ﬂ:}%aﬁﬁwu-sm%ﬁnﬂmﬁ 14 cm ¥ R Fawem § w0 TG W

srraA A el

15-25 | 25~

hospital during
_._'-___'_____,_..---"

———

Age (in years

35 | 3545 | 45-55 | 55-65
21

data given abovg_

f the

Find the mean °

https://www.assamboard.com

{ a cuboid with four
.ons of the cuboid are
f the depressions is
jume of the wood in the
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g RReCTES SF6 (RN (AT 67 S wiferers ¢S

RIC BT T2S
29 :
 (aewe) | 516 | 15725 | 25735 | 35-45 | 45-55 S5-65
A 6 1 21 23 ' > —
. Bie
@oFS fi SYR My SIS | Y
' 0

@I <l qm a3 RRCTER s ey @i @wpi ATea e
WHIC-1 201

1 — ———

@A (Fwr2) | 5-15 | 15-25 | 25-35 | 35-45 | 45-55 | 55-65

cariita wHeem

e weEE AEraEE @ 2w wemetasE § S oty
Aererce fafaa

) (M) | 5-15 | 15-25 | 25-35 | 35-45 | 4555 | 55.65
qufafy safom 6 11 21 23 l 14 o 5 -
Mo g @i ety foeg
Pl aroh R semme 8 o= fom g “ o
T et 5
Fmeft & T A A A H
s (@ #) | 515 [ 1525 | 25.35 PP
3
ot 8 7 "0 | 45 | sses
— 14 5
__'_‘—_‘_‘_‘———_
Tﬂﬁ?ﬁ mmmm%,
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Class intervg] 10-25| 25-40

Number o f students 2 7 -

WWSWW%WWCMWT%TM'&QEW

70-85 | 85-100
1% WA= | 10-25 | 25-40 | 40-55 m

6 6
frsprElia sieam 2 3 7 -

Sirsq SRS 305 RrEd sfive +RrFm g TR (ST AR | UERUAIE
e 1o 3¢ -

T SETET 10-25 | 25-40 | 40-55 | §5-70 | 70-85 | 85-100

IR e 2

. o 30 FEETE FEETAR SRARHE R A g
| & ey e 19E

25-40 | 40-55 | 55-70 | 70-85 | 85-100
3 ! 6 6 6
wargarty ST 1

A G IR R - T SRS g Sp—
wra FFT :

. 70
o ﬁ 70-85 |85-100

3 7
famﬁfa‘faﬁ#ﬁ"’ 6 6
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